OueHo4Hble MaTepuanbl Npu popMUpoBaHUM pabounx nporpamm

ANCuMNInH (Moaynemn)

HanpaBnel-wle noAroToBKU / cneyuanbHOCTb: 38.03.01 OkoHoMuKa

Mpodunnb: SkoHomrka npeanpusaTUin 1 opraHmsaumin, Byxrantepckun ydet n ayaut, MexayHapoaHblin 61sHec,
®uHaHChl 1 kpeanT

OncumnnunHa: MHoctpaHHbIn A3blk B NpodeccuoHanbHol coepe

¢OpMVIpyeMble KOMneTeHUUu:

YK-4

1. OnucaxHune I'IOKa3aTe.I16ﬁ, KputepueB U WWKan oueHnBaHuUsA KOMNeTeHLUUN.
Mokasatenu u Kputepumn oueHmnBaHusa KoMneTeHumin

O6bekT - Kputepuii oueHnBaHus
YpoBHM chOpMMPOBAHHOCTM KOMNETEHLMI
OLIEHKM pe3ynbTaTtoB 0byyeHns
Hun3kmin yposeHb
4 YpoBeHb pe3ynbTaTtos
o MoporoBbii ypoBeHb
Obyvarowuincs o6y4eHuns

[MoBbILWEHHbIN YPOBEHDb
Bbicokui ypoBeHb

HE HWXe Noporosoro

LWkanbl oueHMBaHMA KOMNETEHLUIA NPU caadve 9K3aMeHa Uiy 3aveTa C OLIEHKOM

LocTurHyTbin
YPOBEHb
pesynbTara
obyueHusa

XapakTepucTunka ypoBHS CPOPMUPOBAHHOCTH
KoMMeTeHuumn

LLikana oueHnBaHus
3OK3aMeH unu 3a4yeT ¢
OLleHKOoM

Husknn
YPOBEHb

Obyuatowuincs:

-06Hapyxun npobenbl B 3HaHNAX OCHOBHOIO y4ebHO-MporpamMmmMHOro
martepvana;

-A0NYCTWI NPUHUMNMAanbHbIEe OWWMGKM B BbINOMHEHUN 3a4aHui,
nNpeaycMOTPEHHbIX MPOrpaMmon;

-HEe MOXeT NPOAOIKNTL 0ByYeHre NN NPUCTYNUTL K NPOdEeCCUOHaNbLHON
AeAaTenbHOCTM MO OKOHYaHWW NporpamMmmbl 6e3 JOMONMHUTENbHBIX 3aHATUA NO
COOTBETCTBYHOLLEN ANCLMMIINHE.

HeynosneTBopuTensHo

MoporoBbin
YpPOBEHb

Obyvarowuiics:

-0OHapyXun 3HaHWe OCHOBHOTO y4ebHO-NporpaMmMHoro matepuana B obbéme,
Heobxo4MMOM AN AanbHenwen y4ebHOM 1 NpeacTosLen
npogeccnoHanbHON OeATEeNbHOCTY;

-CNpaBnseTcs C BbIMOMHEHNEM 3aaHUI, NPeayCMOTPEHHbIX MPOrpamMMoONn;
-3HaKoOM C OCHOBHOW NuUTepaTypoun, pekoMeH4oBaHHOM paboyert nporpamMmmon
OVCLUUMNINHBI,

-0OMNYCTUIT HETOYHOCTM B OTBETE Ha BOMNPOCHI 1 MPU BbIMOMTHEHUUN 3a4aHUIA MO
yyebHo-nporpaMMHOMY MaTepuany, Ho obnagaet HeO0OXoaUMbIMU 3HAHUSAMU
Onsa nx ycTpaHeHusa nof pykoBOACTBOM npenogaBaTens.

YaoBneTBopUTEnbHO

[NoBbILLEHHbIN
YPOBEHb

Ob6yuvatowuncs:

- oBbHapyun nonHoe 3HaHue y4ebHO-NPOrpaMmMHOro Marepuana;
-yCNEeLHO BbINOMHWM 3aaHus, NPeayCMOTPEHHbIE NMPOrpamMmmMoOn;

-yCBOMIT OCHOBHYIO NUTEpaTypy, PEKOMEHAOBaHHYI0 paboyer nporpamMmmon
ONCLMNIINHBI;

-rokasan CMCTEMaTUYECKUA XapakTep 3HaHWI y4ebHO-NporpaMmmMHOro
matepuana;

-CNocobeH K CaMOCTOSATENBbHOMY MOMOSTHEHMIO 3HAHWUI MO y4eOHOo-
nporpaMmMHOMy MaTepuany n 0GHOBMEHUIO B Xo4e AarnbHenwen y4ebHon
paboTbl M NPOdECCUOHANBHON OEATENBHOCTU

XopoLuo




Bbicokuin
YPOBEHb

Obyuvatowuincs:

-06Hapy>|<|/|n BCECTOPOHHME, CUCTEeMaTn4eckmne " rny60|<14e 3HaHUA y'-le6HO-

rnporpamMMHoOro maTtepuana;

-ymeeT cBO6OAHO BbLIMOMHATL 3a4aHusl, NPeayCMOTPEHHbIE NMPOrPaMMOi;
-03HAKOMMIICS C AOMONHUTENBHON NUTepaTypoir;
-yCBOMJ1 B3aMOCBSI3b OCHOBHbIX MOHATUIA OVCLMMIINH U UX 3HaYeHne ans

npuobpeTeHnst npodeccuu;

-npodaBwuIl TBOp4YeCKNEe CMocoBHOCTM B NOHUMaHUN yqe6Ho-nporpaMMHoro

maTtepuana.

OTnunyHo

LLikanbl oueHMBaHNA KOMNETEHUMI Npy caade 3a4eTta

JocTurHyTbin

YPOBEHb X y
apakTepUCTMKa YPOBHS CHOPMMPOBAHHOCTM KOMMETEHLIMIA LLikana oueHnBaHus
pesynbTata
obyyeHus
Obyuatowuncs:
- 06Hapyxwun Ha 3a4eTe BCECTOPOHHUE, CUCTEMATUYECKUE U FYyOOKME 3HAHUS
y4eBHO-NporpaMmMHOro maTepuana;
_ - Aonyctun HeGonbLUMe ynyLleHNst B OTBETaX Ha BOMPOChI, CYLLECTBEHHbIM
MoporoBbii  oGpazom He cHUKaKLME UX KAYECTBO; 3a4TeHo
ypoBeHb - NOMYCTUM CYLLLEECTBEHHOE YryllieHne B OTBETE Ha OJIMH 13 BOMPOCOB, KOTOPOE
3a Tem BbINo ycTpaHeHO CTYAEHTOM C NMOMOLLIbIO YTOYHSIFOLLUX BOMPOCOB;
- ONYCTMWN CYLLECTBEHHOE ynyLleHne B OTBETAaX Ha BONPOChI, 4acTb U3
KOTOpbIX Gblfia ycTpaHeHa CTYAEHTOM C MOMOLLbI YTOUHSHOLWMX BOMPOCOB
Obyuatowuincs:
3 - AOMNYCTUI CYLLECTBEHHbIE YNYLLEHMS NPy OTBETaX Ha BCE BOMPOCHI
Huakui npenopasatens; He 3a4yTeHo
ypOB€Hb - obHapyxwun npobenbl 6onee Yem 50% B 3HAHMAX OCHOBHOIO y4eOHO-
nporpamMmmHoro MaTepuana
OnucaHue LwKarn oueHnBaHus
KomneTeHunmn oby4atoLierocs oueHuBaeTcs cnegyowmm obpasom:
3 CopepxaHue LwKarnbl oLeHnBaHus
MnaHnpyembiit OOCTUIHYTOrO YPOBHS pe3ynbTaTta obyyYeHust
YPOBEHb
pesyneTaTos HeynoBneTsBopuTensHO YooBneTBopuTENBHO Xopouuo OTnunyHo
0CBOEHWA He 3auteHo 3auTeHo 3auteHo 3auteHo
HecnocobHocTb Ob6yvatowuiics Obyvatowuics O6yvatowuics
obyvatowerocs crnocobeH AeMOoHCTpupyeT OEeMOHCTpUpyeT
CaMOCTOSITENbHO CaMOCTOSITENbHO CNocoBHOCTb K CNOCOBHOCTb K
NpPoAEMOHCTpUpoBaTh NPOAEMOHCTPMPOBATL  |CAMOCTOATENBLHOMY CaMOCTOSITENbHOMY
Hanuune 3HaHui Npu Hanuume 3HaHWUiA Npw NPUMEHEHMIO NMPUMEHEHWIO 3HAHWUI B
peLleHnn 3agaHuni, peLleHnn 3adaHni, 3HaHWIA Npw Bblbope cnocoba
KoTopble Bbinn KoTopble 6binn peLleHnn 3adaHni, pELLIEeHNs1 HEN3BECTHbIX
3Hatb npeacTaBreHsbl npeacTaBreHsbl aHanornyHbIX Tem, UM HeCTaHA4aPTHbIX
npenogasaTeneM BMECTe C [nmpenogaBartenem KOTOpble NpeacTaBnsn |3agaHui u npm
ob6pa3suom BMeCTe C npenoaaearernb, KOHCYNbTaTMBHOM
NX peLleHmst. 06pasLoM MX peLLeHust. |1 Npu ero NoAAepKKe B YacTu
KOHCYbTaTMBHOM MeXANCUMUMIMHAPHbIX
noagepxke B 4actu CBA3EMN.
COBpPEeMeHHbIX npobnem
OrtcyTcTBME Y Ob6yuatowmiics OGyuvatownics Ob6yuvatowuics
obyyatowlerocs AeMOHCTpUpyeT AeMOHCTpUpyeT OEeMOHCTpupyeT
CaMOCTOSITENIbHOCTU B CaMOCTOSITENIbHOCTb B CAMOCTOSITENbHOE camocTosiTeNnbHoe
NMPUMEHEHMN YMEHWIA NO NPUMEHEHWUN YMEHUI NPUMEHEHWE YMEHUIA NpUMEHEHWE YMEHWNIA
MCMONb30BaHMI0O METOAOB  peLUeHust y4ebHbIX peLleHnst 3agaHui, peLLIeHNs1 HEM3BECTHbIX
VreTh 0CBOEHUs y4ebHom 3afaHuiA B NOSTHOM aHanornyHbIX Tem, WM HecTaHA4apPTHbIX

OVCLUMMINHBI.

COOTBETCTBUM C
obpasuom,
JaHHbIM
npenogasaTenem.

KoTopble NpeacTaBnssn
npenogasarerb,

1 npu ero
KOHCYIbTaTUBHON
NOAAEpPXKKe B YacTu
COBpPEMEHHbIX Npobnem

3agaHnn n npu
KOHCYNbTaTUBHOW
noanepxke
npenogaeartens B 4actu
MEXANCUUMIMHAPHBIX
CcBsA3en.




HecnocobHocTb Obyvatowniics Obyvatowuiics
CaMOCTOSATENbHO NPOSBUTL |AEMOHCTPUpPYET AeMOoHCTpupyeT
HaBbIK peLleHns CaMOCTOATENbHOCTb B |CaMOCTOATENbHOE

NOCTaBfEHHON 3a4a4u no
cTaHgapTHoMy o6pasLy

NPUMEHEHNN HaBblKa Nno
3agaHuamMm,

npMMeHeHne HaBblKa
peweHunsa 3agaHun,

MOBTOPHO. peLleHne KOTopbIX aHanorm4HbIX Tem,
Bnagetb OblNo NokasaHo KOTOpble npencraBsnsn
npenogasatenemM npenogasarerb,
W npu ero
KOHCYNbTaTUBHON

noaaepxke B 4actu
COBpPEMEHHbIX Npobnem

Obyuvatowuiica
OeMOHCTpUupyeT
camocTosiTenbHoe
NPUMeEHeHNEe HaBblka
peLLEeHNs HEU3BECTHbIX
WU HecTaHOapPTHbIX
3agaHnn n npu
KOHCYNbTaTMBHOWN
nogaepxke
npenogasaTens B 4acTu
MEXONCUMNINHAPHbIX
CBsA3en

2. MepeyeHb BONPOCOB M 3aAay K 3K3aMeHaM, 3a4yeTaM, KYpCOBOMY NPOEKTUPOBaHUIO, nabopaTopHbIM

3aHaTuam. O6pasey ouneta ana audcgpdepeHUMpPOBaHHOro 3a4yeTa.

MpumMepHbIN NepevyeHb BONPOCOB Afisl NOAroTOBKM K 3a4eTty: YK-4

3 CemecTp

What do you major in?

What specialists in the field of economy does our university train?

What professional and personal traits are most important for a manager?
What is business?

What is an economic system? Name the three major types of economic systems?
Characterize the degree of freedom each economic system permits

What factors change the nature of economic systems?

What are the three basic forms of business enterprises?

What is a sole proprietorship? Give your examples of this type of a business?
What is a partnership? What types of partnerships do you know?

What is a corporation? What types of corporations do you know?

What is recruiting?

What are the basic stages in the hiring process?

What is management? Name the four management functions?

Name the most important skills managers must possess?

What activities does marketing involve?

What are the four main components of a marketing mix?

Differentiate between tangible and intangible goods.

What are the four basic promotion tools?

OCoOoO~NOOOUR~,WNE

16
17
18
19

CopepxaHue gudcdepeHumpoBaHHoro 3avera: YK-4

1. MUcbMeHHbIW NepeBoA CO croBapeM ayTeHTUUYHOro TeKCTa MO chneuuanbHOCTM C aHIMUICKOro A3blka Ha PYCCKUM
(oueHMBaEeTCs yMEHNE MaKCUMarbHO TOYHO M3BIeKaTb MHpOPMAaLMIO, codepXKalLlytocst B TEKCTE, U NepefaBaTh ee Ha PYyCCKUM
A3bIK B TUCbMEHHOW hOopMe C MaKCMManbHO BO3MOXHOW CTEMNEHbI0 aAeKBaTHOCTU U SKBUBANEHTHOCTH).

2. Mpe3eHTauusa No cneuuanbLHOCTMU.

OGpasey TekcTa ANA NMCbMEHHOro nepesopa co crnosapem: YK-4.

ECONOMIC METHODS AND TOOLS
Examining macroeconomic or microeconomic questions economists have a standard kit of tools and a method for solving
problems that they use for all economic questions. The method is based on a blend of traditional scientific methods and a
relatively new technique called policy analysis. The tools are models, graphs and statistics.

The procedure that an economist must follow is to state the problem, apply the relevant economic model and use that model
to identify solutions. Then, using economic tools and some set of criteria or goals, the economist tries to determine the various
effects of those solutions, i.e. to evaluate solutions.

Economic models are graphical or mathematical descriptions of theories that attempt to describe how economic events are
interrelated and to predict outcomes of various actions.

Identifying solutions involves listing all the possible ways to obtain the desired result. Evaluating solutions, economists
together with policy analysts compare obvious advantages and disadvantages of various solutions to find the best one.



Tembl gnsa npe3eHTaumi no cneumanbHocTu: YK-4.

1. The fundamentals of Economics.

2. Microeconomics and macroeconomics.

3. Business as the activity of producing, distributing and selling goods and services for a profit.
4. Business drives the economic pulse of a nation.

5. The role of small businesses in national economies.

6. Three major types of economic systems.

7. The economic system of Russia.

8. The four stages of the business cycle.

9. The differences between the three basic forms of business ownership.
10.The fundamentals of Accounting?

TpeboBaHusA K 0hOpPMIEeHMIO Npe3eHTaLuu:

. TUTynbHBIN cnang: Tema, aBTop, rpynna.

. EamHbIn doopmart Bcex cnangos.

. LiBeToBas ramma cnangos: nobas, He pasgpaatoLlas rnas.

. locTaTo4yHO KpYMHLIN, MOHATHLIN, NTIErKO YNTaeMbli LLPUAT.

. CTpyKTypupoBaH/e maTepuvana: OavH crang = ogHa MbICIb.

. KpatkocTb 1 nocnegoBatenbHOCTb U3MNOXEHUS MaTepuana.

. CogepxatenbHble 3aronoBku cnangos: KTo / 4Yto / koraa / roe?

. Bcio uudposyto nHdopmauuio nydwie npeacTaBuTh Ha cnanae — Yyucna nnoxo BOCMPUHUMAKOTCS Ha CIyX.

. BusyanbHas 4eTKoCTb 1 BbIpa3vTenbHOCTb UMMOCTPALNA, aHMMaLms, BU3yarnbHble 3¢hdekThl, BUAeoBCTaBku!

10. He neperpyxarite cnang TekctoM. PasmellanTte Ha crnamge TONMbKO CaMylo MMaBHYO, KMOYEBYHD MHGOpPMaUMo B nerko
yntaemom popmate: TeamcHaa hopMa 3anncu, HyMepOBaHHbIA UM NPOCTON CNMUCOK, Tabnuua, KOHTPACTHbLIN WPUET, KYpPCuB,
highlighted words, etc.

11. KYPS-npuHumn — Keep Your Presentation Simple! JlakoHn4YHbIN An3anH crnangoB. JlormyHas CTpykTypa TekcTa goknaga.
MpocTble nNpennoXeHWss U MNOHATHAs NekcuMka. He neperpyxante npeseHTauuio CNOXHO BOCMNPUHMMAEMOW Ha CRnyx
MHdopMaunen.

12. OTCcyTCTBME rPAMMaTMYECKUX N NEKCMYECKUX OLLIMBOK 1 onevaTok.

O©CooO~NOOODWNE

TpeGoBaHus K cogepkaHUIO Npe3eHTaLMM U AoKnaaa:

- Npe3eHTaums: cobnogeHne TpeboBaHWi kK opopMIeHuto / BU3yarnbHble apdeKTbl

- TeKCT AoKnaga: CTpykTypa (BCTynneHue / OCHOBHasi YacTb / 3aKroyeHne), Norvika, apryMmeHTaums
- peyb: NPON3HOLLEHWE, UHTOHALUS, Bbipa3uTeNbHOCTb

Kputepum oueHkn npeseHTaumm CopepxaHue oLEeHKU
npaBunbHbIN BbIBOP TeMbI, 3HaHWe npegmMeTa n cBoboaHOe BrageHve TEKCTOM,
1. CogepxaTenbHbln KpUTEPUN rPamMoOTHOE WUCMONb30BaHWE Hay4yHOW TEPMMHOMOrMM, MMNPOBMU3aLWS, peveBon
aTuKeT
CTPOVMHOE  FOMMKO-KOMMO3ULMOHHOE MOCTPOEHWEe peyn, [oKa3aTenbHOCTb,

2. Jlornyeckmin kputepum
aprymMeHTMpPOBAaHHOCTb

ucrnonb3oBaHWe  S3bIKOBbIX  (MeTadpopbl,  pa3eonoru3mbl,  NOCMOBULbI,
MOroBOPKM) W HEeA3bIKOBbIX (M03a, MaHepbl) CPeAcTB  BblPa3MTenbHOCTY,
doHeTuyecKkas opraHusaums peuun, npaBufbHas WHTOHAUUS, YeTkas OUKUUS,
BblPa3nTENbHOCTb

3. PeueBon kputepuin

B3auUMoOZeWCcTBe C  ayauTopueln, Yy4eT 3aKOHOB  BOCMPUSATUS  peuw,
4. MNcuxonornyeckuii KpUTepuii UCMONb30BaHNE PasfIUYHbLIX NMPUEMOB MPUBMEYEHUSI U aKTMBM3aLUUM BHUMaHWS
ayaumTopum

cobnogeHbl TpeboBaHMa Kk crnamgam, npocnexuBaeTcs  060CHOBaHHas
nocregoBaTenbHOCTb CnangoB M MHopmauum Ha cnamgax, Heobxogumoe wu
AocTaTovyHoe KonuyecTBo (QOTO- M Bugeomartepuanos, ydeT ocobeHHocTewn
BOCMNPUATUA rpadudeckon n umdposon nHdopMaL MK, KOPPEKTHOe coyeTaHue
doHa 1 rpadmkm

5. Kputepun cobnirogeHusa TpeboBaHun k
An3ariHy KOMMbIOTEPHON Npes3eHTaumm

O6pa3zey 6uneta gna gud cgepeHUMPOBAHHOIO 3a4eTa

[JanbHEeBOCTOYHbIN FOCYAapCTBEHHbIM YHUBEPCUTET NyTEN COOOLLEeHNSA




Kadenpa Bunet Ne 1 no aucumnnuHe
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3 cemecTp « _»_ 20

1. Translation of the text into Russian in writing, using a dictionary (YK-4)

2. Presentation on the topic (student’s choice) (YK-4)

3. TectoBble 3agaHnA. OueHka no pesynbTaTtam TECTUPOBaHUA.
MpumepHble 3agaHus Tecta

3apanme {{1}} What is business;
Complete the following sentence
is the production, distribution and sale of goods and services for a profit.
BepHHe OTBETHI.
Business; business; a business;
3ananne {{2}} What is business;
Complete thre following sentence.
Creating an economic surplus or is a primary goal of business activity.
BepHHe OTBETHI.
profit; a profit; Profit;
3ananmue {{3}} What is business;
Choose the correct variant.

An organized network of firms that work together to get goods and services from producer to consumer is called

distribution channels

O distribution mix

O distribution strategy

3ananne {{4}} What is business;

Choose the correct variant.

The first Nobel prize in was awarded in 1969.
economics

O economy



(] economist

3ananue {{5}} What is business;

Choose the correct variant.

In 1998 we had an crisis in Russia.
economic

O economical

O economics

3anpanue {{6}} What is business;

Choose the correct variant.

Service businesses are growing __ rapidly than goods-producing ones.
more

O most

(] the most

3anpanme {{7}} What is business;
Choose the correct variant.

The money that remains after all expenses are paid is

profit
O capital
O taxes

3ananue {{8}} What is business;

Choose the correct variant.

Management consultant, auto repair, financial planning are classified as

services

O goods

O resources

3anganne {{9}} What is business;

Choose the correct variant.

Arrangements and activities needed for getting goods from the manufacturer to the consumer is called

distribution



O production

(] sale

3apanne {{10}} What is business;

Choose the correct variant.

Items provided by nature that can be used to produce goods and to provide services are called
natural resources

O human resources

O capital resources

3anpanme {{11}} What is business;

Choose the correct variant.

A person who attempts to start a new business or introduce a new product is an
entrepreneur

O producer

(] consumer

3ananme {{12}} What is business;

Mark the points of the conversion process in a correct order,

1) input

2) transformation

3) output

3ananue {{13}} What is business;

Mark the historical events in the correct order.

1) Henry Ford established the Ford Motor Company.

2) Henry Ford introduced the Model T Ford automobile.

3) Henry Ford introduced mass production assembly techniques.
3ananne {{14}} What is business;

Match the parts of the business definition with the real-life situations.
1) A surgeon makes an operation.

2) A chemical plant turns raw materials into fertilizer.

3) A warehouse transports books to a bookstore.



A) sale of services

B) production of goods

C) distribution of goods

D) sale of goods

3ananne {{15}} What is business;

Match the businesses to the sphere of btheir activity.
1) Service businesses

2) Goods - producing businesses

A) finance, insurance, trade, banking

B) agriculture, mining, manufacturing, construction
3ananue {{16}} Types of economic systems;
Complete the following sentence.

, or free enterprise, is an economic system in which individuals own and operate the majority of businesses
that provide goods and services.

Bepnbie oTBETHI:
Capitalism; A capitalism; a capitalism;
3ananue {{17}} Types of economic systems;
Complete the following sentence.
lies somewhere between capitalism and socialism in the degree of economic freedom.
Bepnbie oTBETHI:
Socialism; socislism; a socialism;
3ananue {{18}} Types of economic systems;
Choose the correct variant.
High taxes in socialist countries permit the government to
provide social services
O set limits on prices and wages
O restructure economy
3ananne {{19}} Types of economic systems;
Choose the correct variant.

Developing countries are mostly concentrated in



Asia, Africa and South America
O Eastern Europe
O North America
3ananne {{20}} Types of economic systems;
Choose the correct variant.
Nearly half of the world's population lives in countries where per head is $400 or less.
the gross national product
O the wages
O the taxes
3ananme {{21}} Types of economic systems;
Choose the correct variant.

tend to be high in socialist countries.
taxes
O population
O resources
3ananue {{22}} Types of economic systems;
Choose the correct variant.

Under communism decide what goods to produce, how to produce them and to whom they should be
distributed.

government officials

O supply and demand

(] workers

3ananue {{23}} Types of economic systems;

Choose the correct variant.

Countries with high standarts of living are describes as
developed countries

[ developing countries

(| The Third World countries

3ananmue {{24}} Types of economic systems;

Choose the correct variant.



Under communism is a major goal.

social equality

O pursuit of private gain

O economic freedom

3ananne {{25}} Types of economic systems;

Choose the correct variant.

Selling government-owned businesses to private firms is termed
privatization

O competition

O intervention

3ananue {{26}} Types of economic systems;

Choose the correct variant.

Under socialism the state allows in the nonvital industries.
private ownership

O competition

O state ownership

Bananue {{27}} Types of economic systems;

Mark the points in the order of the countries with the highest GNP.
1) Japan

2) Turkey

3) Afganistan

3ananue {{28}} Types of economic systems;

Mark the points in the right order of the US historical events.

1) The American Revolution

2) The Civil War

3) Industrialization

3ananne {{29}} Types of economic systems;

Match the words with their definitions.

1) Capitalism



2) Socialism

3) Communism

4) Traditional economy

A) An economic system in which capital is owned by private persons, who are free to carry on business.

B) A form of social organization in which the means of production are owned and managed by the state for the good
of the whole community.

C) An advanced socialist system in which all economic power is in the hands of a classless society of workers and all
means of production are publicly owned and used for the good of all.

3ananmne {{30}} Types of economic systems;
Match the countries with the types of economic systems.
1) The USA, Australia
2) Mexico, Sweden
3) Cuba, North Corea
A) mixed capitalism
B) socialism
C) planned economy
D) traditional economy
3ananmne {{31}} Economic Entity Asssumption;
Complete the following sentence.
is a legal association of two or more people as co-owners of a business for profit.
Bepnbie oTBETHI:
A partnership; a partnership; partnership;
3ananmne {{32}} Economic Entity Assumption;
Complete the following sentence.

A business organized as a separate legal entity under state corporation law and having ownership divided into
transferable shares is called a

Bepnbie oTBETHI:
corporation; Corporation; a corporation;
3ananmue {{33}} Economic Entity Assumption;

Choose the correct variant.



Bill Gates is the of Microsoft Corporation.

chief executive officer

O sole proprietor

O partner

3ananme {{34}} Economic Entity Assumption;

Choose the correct variant.

Ina all partners are equal by law and all are liable for the business debt.
general partnership

O limited partnership

(] master limited partnership

3ananue {{35}} Economic Entity Assumption;

Choose the correct variant.

As a sole proprietor you have the satisfaction of working for
yourself

O your country

L your partner

3ananue {{36}} Economic Entity Assumption;

Choose the correct variant.

The major disadvantage of a sole proprietorship is the proprietor's
unlimited liability

O limited liability

O personal income tax rate

3ananmne {{37}} Economic Entity Assumption;

Choose the correct variant.

A partnership is a legal association of two or more people as
CO-owners

O shareholders

O employers

3ananmue {{38}} Economic Entity Assumption;



Choose the correct variant.
The shareholders elect the
board of directors
O officers of the corporation
O CEO
3ananmne {{39}} Economic Entity Assumption;
Choose the correct variant.
means that any damages or debts of the business can be attached to the owner.
unlimited liability
O limited liability
O liquidity
3ananue {{40}} Economic Entity Assumption;
Choose the correct variant.
A key element of the partnership agreementisthe
buy/sell agreement
O checking account
(] license
3ananmne {{41}} Economic Entity Assumption;
Mark the points in the order of the most populated countries of the United Kingdom.
1) England
2) Scotland
3) Wales
4) Northern Ireland
3ananmne {{42}} Economic Entity Assumption;
Mark the points in the order of the oldest sights of London.
1) The Tower
2) The Houses of Parliament
3) London's Eye

3ananmue {{43}} Economic Entity Assumption;



Match the types of corporations with their definitions.

1) S corporation

2) Limited liability company

3) Quasi-government corporation

4) Subsidiary corporation

A) Corporation with no more than 75 owners whose profits are taxed at personal income tax rates.

B) Organization that combines the benefits of S corporations and limited partnerships, its existence is restricted to 30
years.

C) Public utility with a monopoly on providing basic public services.
3ananmne {{44}} Economic Entity Assumption;

Match the advantages and disadvantages of a partnership.

1) Advantage

2) Disadvantage

A) Profits are taxed at personal rates.

B) The unlimited liability of the active partners.

C) Owners of preferred stock recieve dividents before common stockholders.
3ananue {{45}} Labour market;

Complete the following sentence.

You can't start job search without a . You present the most important information about yourself in it: your
background, your work experience, skills and special knowledge.

Bepnbie oTBETHI:

resume; CV; curriculum vitae;
3ananmne {{46}} Labour Market;
Complete the following sentence.

People looking for work generally read the vacancies advertised in newspapers. To reply to an advertisement is to
apply for a job; you become an or a candidate.

Bepnbie oTBETHI:
applicant; Applicant; an applicant;
3ananne {{47}} Labour Market;

Choose the correct variant.



are an important component of every business.

employees

O union hiring halls

O applicants

3ananne {{48}} Labour Market;

Choose the correct variant.

use various methods when attracting suitable candidates.

recruiters

O applicants

(] Sales Directors
3ananue {{49}} Labour Market;

Choose the correct variant.

For senior positions, companies sometimes use services of , who already have the details of promising

managers.
headhunters

O headquarters

(] headshrinkers

3ananue {{50}} Labour Market;
Choose the correct variant.

To reply to an advertisment is to

apply
O applicate
O appoint

3ananne {{51}} Labour Market;
Choose the correct variant.

It is not uncommon for the

for a job.

department or the managers responsible for a particular post to spend eighty or

more working hours on the recruitment of a single member of staff.

personnel
[ personal

O resources



3aganme {{52}} Labour Market;

Choose the correct variant.

A company may advertise a vacant position in newspapers or trade journals, or engage an employment to do
SO.

agency

O centre

O company
3ananmne {{53}} Labour Market;
Choose the correct variant.

You write an application, or fill in the company's application form, and send it, along with your (GB) or resume
(US).

curriculum vitae (CV)

O job history

O life story

3ananue {{54}} Labour Market;

Choose the correct variant.

If you have the right qualification and abilities, you might be short-listed, i.e. selected to attend a/an
interview

O examination

O trial

3ananne {{55}} Labour Market;

Choose the correct variant.

You are often asked to give the names of two people who are prepared to writea __ for you.
reference

L report

O interview

3ananmne {{56}} Labour Market;

Choose the correct variant.

The process of attracting suitable candidates for an organization's job is

recruiting



(] interview

O application

3ananmne {{57}} Labour Market;

Choose the correct variant.

Something such as degree or diploma that you get when you successfully finish a course of study is
qualification

O experience

(] advertisment

3ananne {{58}} Labour Market;

Mark the points in the right order of basic stages in the hiring process.

1) A company advertises the position in newspapers.

2) A company selects a small number of candidates from all the applications recieved.
3) A company holds interviews of short-listed candidates.

3ananne {{59}} Labour Market;

Mark the points in the right order of looking for work.

1) You read the vacancies advertised in newspapers.

2) You write an application and send it along with you resume.

3) You attend an interview.

4) You take a test, if it is necessary.

3ananue {{60}} Labour Market;

Match the words with the correct definition.

1) A resume

2) An interview

3) Apprentice

4) An application

A) A summary of education, experience and personal data complied by the applicant.

B) A meeting of two or a few persons to decide whether one of the persons is fit for a post.



CooTBeTcTBME Mexay 6annbHOM CUCTEMON U CUCTEMOM OLIEHNBaHKSA MO pesynbTaTtaM TECTUPOBAHUA YCTaHaBNMBaeTCs
nocpeacTBoOM crieaytolleit Tabnuubl.

O6bekT lMokasaTenu oueHBaHWA OueHka YpoBeHb
OLLEHKM pe3ynbTaTtoB 00y4YeHus pe3ynbTaTtoB 00y4YeHus
60 6annos n meHee «HeynoBneTsopuTEnbHO» Hun3kmin yposeHb
. 74 — 61 6annos «YO0oBNeTBOPUTENBHO» [MoporoBbI ypoBEHD
Obyuvatowniics o
84 — 75 6anna «XopoLuo» [MOBbILLEHHbIN YPOBEHb
100 — 85 6annoB «OTnn4HO» Bblicokunii ypoBeHb

4. OueHKa oTBeTa oby4aroLwerocsa Ha Bonpochkl, 3agaydy (3agaHue) aKk3aMmeHauMoHHOro 6unera, 3avera,
KYPCOBOIro NpOeKTUPOBaHUA.

OueHka oTBeTa oby4varoLerocsi Ha BONpochkl, 3agavy (3agaHue) ak3aaMmeHauMoHHOro bunera, 3adeta.

CopaepxaHue LwKanbl OLeHMBaHNS

OnemeHTbl HeynoBneTBoputenbHo YOoBNEeTBOPUTENBHO XopoLuo OTnnyHo
OLleHMBaHWSA
He 3auTeHo 3auteHo 3auTeHo 3auTteHo

CootBeTcTBUE MonHoe 3HauuTenbHble HesHaunTenbHble lMonHoe cooTBeTCTBME
OTBETOB HEecCoOTBETCTBUE MO MOrpeLuHoCT MOrpeLuHoCTy
dopmMynmnpoBkam BCEM BOrnpocam
BOMNPOCOB (3agaHuni)
CTtpykTypa, MonHoe 3HauuTensHoe HesHauuTenbHoe CootBeTcTBUE
nocnenoBaTenbHOCTb HECOOTBETCTBUE HEeCOOTBETCTBUE HEeCoOTBETCTBUE KpUTEPUIO Npu OTBETE
W rfiorvka oTeeTa. KpuTeputo. KpUTEpPUIO KpuUTEpUIO Ha BCe BOMPOCHI.

YMeHune yeTKo,
MOHSITHO, TPAaMOTHO 1
cBOOOAHO M3naraTb
CBOW MbICIN

3HaHMe HOpMaTUBHbIX,

NpaBOBbIX JOKYMEHTOB

1 cneuunanbHomn
nntepartypbl

MNonHoe He3HaHue
HOpPMaTUBHOM U
npaesoBow 6a3bl u
crneynanbHomn
nutepaTtypsl

NmetoT mecTo
CYLLIECTBEHHbIE
ynyLweHns (He3HaHue
oonbLuel YyactTn n3
OOKYMEHTOB U
cneuunanbHomn
nuTepatypbl No
Ha3BaHWIo,
coAepXaHuio u T1.4.).

NmetoT mecTo
HecCyLLleCTBEHHbIE
ynyLweHns wn He3HaHue
OTAernbHbIX
(eovHWYHBIX) paboT u3
yucna obssaTensHon
nuTeparypsl.

NonHoe cooTBeTCTBME
JaHHOMY KpUTeputo
OTBETOB Ha Bce
BOMPOCHI.

YMeHue yBa3biBaTb
TEopUIo C NPaKTUKON,
B TOM 4uMCrlE B
obnactu
npodeccroHanbLHoOn
paboThl

YMeHue cBa3aTb
TEOpPUIO C NPaKTUKON
paboTbl He
nposiBNseTcs.

YmeHue cBsi3aTb
BOMPOCHI TEOPUN 1

NPaKTUKn nposasBndaeTca

penko

YmMeHue cBsizaTb
BOMPOCHI TEOPUU U
NPaKTUKN B OCHOBHOM
nposiBnsieTcs.

lNonHoe cooTBeTCTBUE
AaHHOMY KpUTEpUIO.
CnocobHocTb
WHTErpupoBaTh 3HaHUS
1 NpuBnekaTb
cBefeHus us
PasnMYHbIX Hay4HbIX

cep




KauecTBo 0TBETOB Ha
[OMNOMHUTENbHbIE
BOMpPOCHI

Ha Bce
JOMNONTHUTENbHbIE
BOMpPOCHI
npenofaBaTens AaHbl
HEeBEpPHbIE OTBETHI.

OTBeThbI Ha 6onbLuyto
YacTb
AONOMHUTENbHbIX
BOMPOCOB
npenogasartens AaHbl
HeBepHO.

1. [laHbl HENoONHbIE
OTBETbI Ha
[OMNOSTHUTENbHbIE
BOMPOCHI
npenogasaTens.

2. [laH 0gVH HEBEPHbIN
OTBET Ha
[OMNOSTHUTENbHbIE
BOMPOCHI
npenogasaTens.

[aHbl BepHbIe OTBETI
Ha BCce
[OMNOSHATESIbHbIE
BOMpPOCH!
npenoaasarerns.

ﬂpmmeanme: ntoroeas oueHka cbopMMpyeTcsq KaK cpeaHAan apVI(*)MeTVI‘-IeCKaFI pe3ynbTaTtoB 3JIEMEHTOB OLEHNBAHUA.




